EXPANDING BRACKETS

Answer all of these questions. Remember to show your working out in all

questions.

MAIN QUESTIONS
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Expand 2(x + 3)

Expand -3(x + 1)

Expand -2(3x + 1)

Expand (x - 4)(x + 5)
Expand (3x - 2)(2x + 5)
Expand (2x - 3)°

Expand (83x + 2)(8x - 2)
Expand (2x - 1)(x* - 3x + 4)
Expand 2x(3y - 5)

Expand 3xy(4x - 2y)
Expand 5xy*(2x - 3y)
Expand 2xy°(5x° - 3y)
Expand 3x°’y(2x°y + 4xy°)
Expand 2x4y(4x°y? + 3xy°)

Expand 4xy4(3x°y® + 2x°y°)
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Expand 5(x - 4)

Expand 4(2x - 5)

Expand (x + 2)(x + 3)
Expand (2x + 1)(x - 3)
Expand (x + 4)*

Expand (x+ 1)(x-1)
Expand (x + 2)(x* + 3x + 1)
Expand 3x(2y + 4)
Expand 4xy(2x + 3y)
Expand 2x°y(3x + 4y)
Expand 3x’y(4x* + 2y?%)
Expand 4x°y*(3x* + 2y%)
Expand 5x°y°(3x° - 2y%)
Expand 3x°’y*(5x%y° - 2x4y)

Expand 2x5y°(4x’y? - 3x%y4)



MASTER QUESTIONS =)

M1. A rectangle has length (3x + 2) and width (2x - 1). Find its area.
M2. A square has side length (4x + 3). Find its area.

M3. The volume of a cuboid is given by (2x + 1)(3x - 2)(x + 4). Expand
this expression.

Mé. A garden's length is (6x + 2) and its width is (3x - 1). If a path of width
x runs around the garden, find the total area.

M5. The area of a triangle is 'zbh. If the base is (4x + 3) and height is (2x -
1), find the area.

Mé. A box has dimensions (x + 2), (2x- 1), and (3x + 4). Find its volume.

M7. The cost of x items at £(3x + 2) each and y items at £(2x - 1) each.
Find the total cost.

M8. A room's length is (4x + 3) and width is (3x - 2). If carpet costs £(x +
1) per square metre, find the total cost.

M9. The perimeter of a rectangle is 4(2x + 3) and its area is (3x - 1)(x + 2).
Verify if these are consistent.

M10. A cylindrical tank has radius (2x + 1) and height (3x - 2). Using nir’h,
find the volume in terms of m.



